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A is B's sister. C is B ﬂ mother, D 15
C's father, E is D's mglh:r then how 15

@ ,n., m!ulcd loD? 3
uubhl.:r y
Grnnddﬂughttr
(C) Grandmother
(D} Grandfather

2. What is PSLV stands for, Which is anc of
the'satellite launching vehigle of ISRO ?

Payload of Satellite Ldunch Vehicle
(B} Palar Surface object fau nch Vehicle
{(C) Polar Satellite Launch Vehicle
(D)} None of the above

! .
3 IfA =[:] ]} whera neM then A" is

AN LR
ok S

4. Manufacturing unit of Hero Honda
Motoreyele is located in which district of

Haryana ? -
(A} Palwal

(B) Sirsa
"} Faridabad

(D) Rewari

5. In Pyihon comments star with

symbol.
(B)
gp)’f

(A) 5
€ *
The number of Municipal Corporation in

(.

. Haryand wils

A) 10
/ﬁ} 8

(B) 11
(D) 9

pfaie | D, Cw T
" gﬁgﬁﬁgh Dﬁﬂ:ﬂmﬁﬂt? +
(A)
(B) 9l
(C) =l
(D) 7w

G

2 PSLV 1% waed &, 7t % ISRO * 39

T AR 7
(A) Payload of Satellite Launch Vehicle

(B) Polar Surface object Launch Vehicle
(C) Polar Satellite Launch Vehicle

(D) I 8 8w el

3, TR A=[; :)EIETHEH.FI-TF.' ¥

®) {L )
) [L ‘]:']

() [! {I)
1 n
l n

C

(C} [I} I]

4, wfmomd d e S T

fmfmae?

5, T 1, Fe __ﬁﬁﬁimﬂ‘gﬁfm%i

(B) &
(D} #

(A) §
(€ *

6. Eﬁ‘ﬂﬂﬂﬁﬁﬁiﬂﬁ‘;ﬂﬁ?

(B) 11
(D) 9

(A) 10
() 8
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= An ancient temple Bhadrakali is i
s akaliis :
. the district of Situated in

\Lﬂ'ﬂ, Rewari

(C) Mewat

(B) Ambala
{D] K uruk Shﬁ{m

. In .w].ﬁth sorung algorithm, every adjacent
pair 1s compared and swapped if they are
not in the right order 7
{A) Bubble Sort (B} Lincar Sort

/1 (C) Selection Sort (I Insertion Sorl

9. Which of the following Environmental
organization has launched the “clean seas”
campaign 7
(A) Ocean conservancy

UN Environment
(C) Sea Web
(D} Blue ventures

10. TFirst meter gauge commercial train ran on

which route ?
%3 Delhi — Rohatak

(B) Kurukshetra— Jeend
(C) Delhi- Rowari
(D} Delhi — Panipat

11. The city was founded by Firoz Shah Tughlag
(A) Biwani Hisar
() Gurogram - (D) Panipat

12. Vﬂuﬂﬂffﬁ;ﬁﬁr{p :-:j}.:q}-!- (fl " |:-:| :
p JBFi P

(D) -2p

-

k=
(A) 3P
(C) 4p
is written as (ba)lo sul ", houses are brightly

lit" as ‘kado ula ari and ‘light comes
" what code-

words are written for ‘sun’ and ‘brightly. ?

13. Inacerain @uﬂgﬁ. “sun shines bri ghtly”

y’lﬂ,ba (B) ba,lo
(C) ba, sul (D) sul, lo
3=
Ll bo.
b
[~

Tl

1.

11.

12.

13.

5/2019 (1) (k1)
T e wE e e R e
(A) ETS! (B) afamen

()| HaTd (D) FEE

firgt ol T, W ST W
# 5317 STeATEaE i AT & 7 4w
0 g el B T

(A) | 2R T (B) YaE TR
(C) | ST T (D) TEH
Frfofi 7 & fr wafaw @59 3 AT
Hgg”a::ﬁlﬂﬁ:{[ﬁﬁ'ﬁm%?

(A) 3T Faad]

(B) 7. TR

(C) wEA

(D) ==,

e iz T SuEETaE 1o FEl o wEl 96
=t 7

() fagh - oeem

(B) e - #id

() fagt - tard

(o) g - ot

TorATa T AT & T TR T IR

(A) T (B) fimm

(Cy T&IH (D) THTE
(ﬁﬂi:}x?-r{l;.n]}#tja-[ﬁxﬂ\]xﬂ

H O FE T

(A) 3P (B) @

C) 4p (D) -2B

wh ffFam 9 8 “sun shines brightly” %1

‘ha lo sul’ % %9 § e =m0 8, ‘houses are
brightly lit' %1 ‘kado ula ari ba’ &0 H

1 & 3R ‘light comes from sun’ %1 *dopi
kup lo nro’ Feu i ey, I HE =
“sur’ 3T ‘brightly’ ¥ oo e o 2 7

(A) lo, ba (BY ba,lo

(C) ba, sul (D) sul,lo
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Gl —2 Eﬂ‘?’g- ) 3D
S
14, Pointing towardsa girlin thepiéture, Sarita | 14. AR T e wrgehl ohl 3T IR 4 B,

said “She is the mother of NEha, whose
Father is my son”. How is Sarta related to
the girl in the picture 7 B
(A) Mother (B) jeodsin

(C) Aunt ( Hﬂfﬂ of these

15. Chandra X Ray observatory, i% a flagship-
class space telescope of which of the

following space agency
(A) NASA
(B}, Roscosmos
"y ISRO
(D) None of the above

16. Which of the following satellite launch

vehicle (Rocket) of ISRO nick named as

Baliyhali?
GSLY Mk III
] Scram Jet Engine - TD

(C) RLV-TD
(D) None of the above

In which year did Columbus reached the

" Island of West Indies ?
(A) 1520 1556
(C) 1492 (D) 1498

¥
18, Structure of Hi{l:{]jlis
Tetrahedral
(B) Trigonal planar
(C) Square planar
(D) Trigonal pyramidal
19, E‘I;: Ampere-Maxwells equation is given

) §Edi= ___‘Tn
t

15.

16.

17.

18.

19.

- &

3 e e v < 1 2, e o it
TN | T4 8 5 el R /im0
(A) W (B) == Wi
(C) ==t (D) ¥ &=

=51 e 1 avemen, Fefataa § 9
et wsidt i ek vy s g
(A) NASA

(B) Roscosmos

(C) ISRO

(D) F70E 4 | =g 7w

[SRO & 3908 W&qor o (Tehe ) H @ f#
IR ATt @ 7 a
(A) GSLV Mk III

(B) %9 32 §9H - TD

(C) RLV-TD

(D) Foa § & = Tl

forg = Fieiey SREE & T TE
(A) 1520 (B) 1556
(C) 1492 (D) 1498
Ni(CO), % w8

(A)

. .
(A) fEd=—

; dég
(B) eﬂi B_.dl =Hole tHg En]‘:’

_Q
(C) g% E.dA = 5

(D) 5|': BdA =0
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20, What is the mechanica! energy E of the

5 !'i'nﬁa'r oscillator T Given initially, the
- Block's position is x = 11 cm, speed is

" v =0and spring constany’k = 63 Nm-"\.
(A) 0.791] Y 0111
5 (C) 0661 (D) 0.39]

b

4 P
(I{}E ' 91"hr. C# or Visual Basic compiler converts

ﬁ'x your code into a special language named
G MiIsL (B) MMSL
(C} MSSL

e

[=

(D) MSIL

22,

In? certain code language, ‘pff__l-_.—w:—is
written as/ 5, ‘eraser sharpener’ is written
as "@#" and ‘pencil eraser’ is written as
Eﬁ". then what is the code for "pen’ ?
(A) @ (B

(C) # D) §

Choose the word which is least like other
in the group, d
Tomato " 4H) Ginger

&) Carror (D). Potato

plete the series,

24,

LT, 13, 21,7

e e e * |
3 (B) 33

(C) 27 (D) 29

If Ais a3 =3 non singular matrix and

Al= 3 then [(2A)] =
1___| =3t JH____,M
24

(D) None of these

23,

1
(A) c

1
=

)
E'J'ﬂ' ?‘\E'[’ ?)'-\';"'\ ﬁ@’fﬂ

SII019 (1y (E1)

20, Yufra AT i 59 £ 7 3

21.

23,

24.

ﬁ@mﬂﬁﬁlx:lbcmi,ﬁv=ﬂiﬁn
FHA U k = 65 Nm' 3 |

(A) 0.791] (B) €111

(C) 0.661 (D) 0391

C# 41 399 ATIRYT FEATER A0 F2 )
e s v H ofEfia s @

Fedral el

(A) MISL (B) MMSL

(C) MSSL (D) MSIL

uw fifeam aféen 4, ‘pen pencil’ =157 %
=1 1 "t § B s 8, ‘eraser sharpener’
& ‘@# & w7 ° foran s & 3 pencil
eraser’ T ‘$@' % w 4§ ferEn =T %, Al

‘p:n‘%ﬁ’lﬂﬂ-ﬁgﬂﬁ'ﬁﬂT%?
(A) @ (B) 7
(C) # (D) %
ﬁmﬁaﬁaﬁﬁﬁ?%@ﬁﬁﬂw%w
Tl © w9 e

(A) SHI (B) S1aTF
(C) 7= (D) =,
Fae g i |
1,3,7.13,21, 7

(A) 31 (B} 33
()21 (D) 29

1% AT 3 53 SR (non singular) ST 2
R |A|=3, W@ (2A)"] =

(A) — .1
6 (B) 23
(C) I_li (D) T & ®IE T
H
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v frbi
i
‘B ‘Butter’ is
If ‘Orange’ is called utter %
r.:aued Ink’, ‘In
called *Soap’, ‘Soap’ is

is called ‘Honey" and Hpm':]' 18 r.:alhaugL
‘Orange’, which of the following is use

for w mgl_n_ma_p A
(A) Soup \?/ﬁk
0)

{C} Honey Butier

27. Which functions allow us fD acccss a fle in

a non-sequential or random m-qde
(A) write() and writelines()

(B, write() and read()
,\g]ﬂ seek() and tell()
(D) read() and readline()

8. Who was the first Chief Minister of Haryana 1
&y Devilal

(B) Bansilal

(C) Bhagwat Dayal Sharma

(D) Rao Virender Singh

39,  Sacchar formula was introduced in which
year 7

(A) 1948 (B) 1949
(C)y 1945 L{pa’ 1946

30. Which of the following 18/are the government

scheme (s) for the promotion of sporis in
Haryana 7

(A) Provide training

(B) Build the sports stadium

(C) Grant for sports institutes
JBT A

Il of the above
What is the strength of judges in Punjab and

I-I_nr}rana high
d)‘-"'ﬂ" 38
(C) ﬁE 58

32, Which of the dance is mainly performed on

the marriage cercmony 7
(A) Guggadance —
(B) Gangor puja dance
(C) fhodi dance 3

( Dhamal dance

26.

28.

29,

30.

31.

i, i}

Ay
i1l l;

' I
aﬁnﬁ?ﬁlﬁ@t i)
%ﬁﬁ%rﬁﬂ?

Fi5-11 Fed o T e 41 ﬂTF“IF“HE N
e 3 e e 6 T ol Colk
(A) write() and writelines()

(B) write() and read()

(Cy seek() and tell()

(D) read() and readline()
m%uﬁﬁﬁwﬂﬁn&? l
(A) ol

(B) =HTETA

(C) iEd aTe Tl

(D) = & o

et g o = s o T ¢
(A) 1948 (B) 1949
mﬁm%mmmmw
e, § 7

(A) wimEm 2

(B) W Tfeam s+am
(C) el GEnad F FIEA &
(D) T Tt

et afi e =8 =TT | =
TEN e 7

(A) 48 (B) 38

(C) 68 (D) 58

ey Ty 1 e - e fop T €
(A) W T
(B) T =0 e

(C) THTA
(D) |
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' 33. InPython which data type is unordered and
| mutable ?
| (A) Mapping am/ Tuples
(C) Sets (D) Sequence

34, The volume of a Parallelopiped whose
co-terminal edges are the vectors
a=2i+j-3kb=i+j+2%kand c=i-2j+3k
15
(A),. 42 cubic units

32 cubic units

(B) 22 cubic units

(D) 12 cubic units

35. Ifacurrentloop carrying a current [, with N
turns and area enclosed by the current is A,

then the magnetic dipole moment is given

by
I
A = NIA = —
(&) m @f}m =
N A
~ (C) -— D = —
A s

36. Choose the pair of words that shows the
same relationship as given by the pair.
Cells : Cytology : :

(8" Insects : Entomology

(B) Ti_%ﬂts: Morphology

\C) Diseases : Physiology

{®) Worms : Omithology ,

37, When was Seema Aayog formed to decide
4pon separation of Py njab and Haryana ?

":"—' December 1941 (B) January 1951

2 May 1975 M:uhcr 1965
th :

m}:-lﬁ“ Sliribute of the class and the

If
are in same scope, then
will be given

36

the datag Aty
(A) Mo Priorijy

(C) equal Prioriy,

(B) higher priority
DY lower priority

33, gmyd ¥ FE-T HHS T

nfEed & 7 #"‘
() Hfi (B) =quew
() HE (D) ferru

34, UF BUFETR S T A T e S

wg 2ife foFm o A &9t a=2i4+j- 3%
b=i+j+2k3M c=i-2j+3k 27

(A) 42uigardal  (B) 22 9 sEAt
(C) 32wasFEal (D) 1299 sl

of2 v e a o, FEem I S NgE
o aman @ 3 Frega g0 wew e e & AR,

A S Feger iR Feerds g A el B 7

i i s

A = NIA
(A) m NA

N

A
C) m=—
) m [A

D) m=—
NI

e e g i =t faw e g g v g

Haw =t fomma € |

wifETE  FiEETE o

(A) #ie : Fizkam

(B) Fde : FHAETH

(C) T : i A

(D) Ff : aidrfEmE e

AT SRR o T A g A, S v 3
whtamon =t e w6 5 Fofa e 7
(A) Fed=r 1941 (B) wwail 1951
(C) w1975 (D) 37agat 1965

ﬂﬁaﬁ#mwmﬁﬁm
WA ETEA S, TR e ——
w1 e smidt)

(A) F graferrad (B) I A
(C) ww SR (D)

37.

H
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3. Who was the first Speaker IUEHETFH““
Legislative Assembly 7 . .
) Shanno Devi
(B) Manphool Singh _ |
(C) Kuldeep Sharma ,
(D) Eshwar Singh 1'

40. Choose the pair of words that shows the
same relationship as given by thﬂ pair.

Scalp : Hawr::
(A Earth: Grass
B} Fur: Cap

) Home : Cattle
Mail : Nailpolish

ere is the Haryana Public Service

s 15sion located ?
ﬁanchkula (B) Gurugram

(C) Sonipat (I¥) Panipat

42. Which one of the following is not a database
management system 7
(A) dBASE

(C) PostgreSQL

) FoxPro
(D) SAK

43. Lala Lajpat Rai actively participated in the

Swadeshi am_:‘lﬂ!lan from which district ?
) Hisar ~

(B) Sonipat
(C) Rohtak (D) Panipm

44. On which of the following subject both
Union and State Government cap make
|laws !

‘{/ Concurrent list subject
“(B) Residuary subject
(C) Union list subject
(D) grate list subject

40,

41.

42.

43.

IrIlllFllIIIIrIFlll'lI-lllll.
i e w = o g #e
(A) TR
(B) WS
(C) Feramg gmt
(D) e fom

9 ¥1e8 I Fe 51 v o gm gm Emi
Hay = e #

Rl A o A | o

(A) 9= gT|
(B) W : 2

(C) Te: W]
(D) TEH ; AT
BT T Ha W e e

(A) T (B) T

(C) HrfiT (D) T
frfafin § & F9-91 ©F TEEE T8
b i

(A) dBASE
(C) PostgreSQL

(B) FoxPro
(D) SAK

e SrEdn T A TEeslt aneeE § e f
som =g amfam e ¥

(A) fem (B) wraw

(C) TgaH (D) wHiTa

Fayfeafias 4 & T o @ Fdg o T
TR A FT FHRA 6 ]

(A) wwed geh fom

(B) =ratime g

(C) Hfm weh frmm

(D) T e P
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Which of the following space agencies
involved in BepiColombo mission, an
unmanned spacecraft carrying a two probes
into orbit of Mercury 7

(A) ISRO and NASA

(B) European and Japan space agencies
(C} NASA and European space agencies
\{5)% None of the abave

46. In 1984, which of the following is Haryana's
most famous film whose song is most
popular ?

(A) Lado ) Chandrawal
(C) DhanParaya (D) Lambardar

47. Begj B_a::hau Andolan (save the seed) was
initially started in
(A} West Bengal

(C). Bihar

() Madhya Pradesh

48. In Namaul area which State 15 bordered
g three sides 7

ya Pradesh
Rajasthan

If o means + BTMEJ‘L!_'.
G —, Y means X,
f) means = thep 30 @ 10y5a 10f20is

i
) (B) 15
(© 3 (D) 10

A nON EMPLY Subget

Hofs s
aid 10 be 3 subprous + P BOUD (G, ) is

(p) HEG ;

5"1‘

ar s

P . -
=13 X \° o
\&x 1D

45

46.

47.

49,

50.

s/

‘ ﬂmmﬁﬁ”ﬁ’fé?yﬁfh .
W@mm%,ﬁm% _"'l-'f'.
ma}ﬂqﬂﬂﬁaﬁﬁuﬁmﬁﬁ%ﬁ?

(A) 15&{}31*;:&5& 1
(B) I I Sferf i
(C) NASA 37 Z0f siafis wifimy
(D) gt H @ s T

1084 # gfeTn #1 TR AEy fye
ﬁqﬁf@‘ﬁﬁﬁﬂﬂ—ﬁﬁﬁ,ﬁmﬁﬁmqﬁm

(B) ==l
(D) TraEEn

o ) ST e el g e ¢
(A) o s

(B) IUES

(C) famm

(D) HEAWI
q@ah%ﬂnﬁmﬁau&ﬂﬂ%ﬁnﬁmﬂ
i} EEIC

(B) W& W2

(C) T=EIH
(D) FoH W9

b

afe o1 31 +, T A1 —, 3 61 1 %, B
FEA3I0010y5a 10p208
(A) 5 B) 15
© 3 D) 10

T TE (G, «) T 2 Sag=a H &, 7
ITEE el g, T

(A) HeG

(B) fafmy siwame=d A n# &

(C) H;Gﬁﬁ{[{x}%ﬁ%%

(D) T & 7

H
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51. Study the diagram given beloW 1o answer | 51, Fr=ffiaa v =1 3w 3 F R AR o |
the following question A i TG T e ' |
L
X ‘“
c /6 |s) o\ & o S O
7| )
:‘JJ — ﬁmB
’} et ‘ et if wfeenadi =
The triangle in the above F' ure 'F'EF”‘:“ I Wfﬁ‘ | nfat
de women ing\rillages. the squﬂfg_ depicts the awian @ | = At afienett i g §
unemployed women and the ¢ircle depicts | iy g frfar et 3 7wt &1
et e it i irf At wfeeed e - i
Educated employed women in villages are sl ® 7
represented by j '
() 1{' Dy E (C) D (D) E
t& 52. In which year Punjab high court shifted to |  52. i and B ol ey =T =i H RmR
Chandigarh 7 2 7
yr}’ 1957 (B) 1958 (A) 1957 (B) 1058
(C) 1935 (D) 1936 (C) 1955 (D) 1956
53. Which one of the following is true with | 53." 21 e ¥ werar du 3 e 3 Frafirfiae
regard to Mahayana cult of Buddhism ? AFH-T AR 7
(A) They refer as greater vehicle (A) q Teol 96 1 Heida B
(B) Worship of Buddha's image was an (B) FeHsRAIEET ) i TR
important tradition of this cult iy ot
C) Origi :
©) Dn! g,'l.na! l' followers ‘were called lower © - liﬁﬂﬁ'ﬂﬁmmg
A DI All the above (D) 7w weft
54, The district in which : : A &
number of gram st roud have highest | 4. T ﬁf‘ # g o 1 e T
(A) Hisar B Gurugram (A) frmm (B) TR
(C) Kammal ©) Panipa (€) FAE (D) T
55. The value of A for which the hl::l[‘ltmg,cncnus 55. @ o= 7 B R s T
system A x + Y ¥2=0,=x 41y 4220, Ax+y+2=0—x+ry+z=l
_?;_-}u+}~=ﬂhﬂ5"mlﬂ‘ﬂﬁpfm|mm}i5 _x_y+lgﬂaﬂﬁﬁﬁ%?
((A) 3 %Fnz @) 3 B) 0
©) idr?; (D} (C) +3 (D) =3
-10-
-
Hﬁﬂﬂ?‘“ﬂ”ﬁj f"‘rzﬂ' M.~ {;:'?’E:F_A
w X L & & a = i §]
A T V.~ N I
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' 53. In database, a relation means a 56.
(A) Tuple &%m Table
(C) Domain (D) Key
x 3 7
57. Ifx=-9isarootof {2 x 2|=0.then [ 57,
T 6 X
the other two roots are
(A) 2,7~ (B) -2,-7
‘{/G{ ~2,7 D) 2,-7

58. EDTA s ligand. 58.

(A) ,Hexadentate \JI"\J Uj Q@
Tetradentate }E{T

(C) Monodentate

(D) Bidentate @ C)

59. Ina code Eaﬁé_uag& SGLID is written as | 59,
WESL HA. What does the code word
AI%E&[[?{;H'G referto ?

(A) BEAGER iB) WAFER
WATER (D) WAGER
- (FL
Whlﬂh of the following plants is established 6.
sholi in Papipat 2
Oil refinery  (B) Pertilizer
(C) Sugar (D) Cement
61. Intersection of 2 subgrou F'5 of & group 6L
(G, %) is
(A). asubgroup of G
Emup bt not & E'L'!b FG
(C) not asubgroup of ﬂgm"“ &
(D) none of these
Whﬂ wrote the book “"'muktmna]_a.raﬂa 9 62,

7~ DERM

udragupta
Pulakeshi
Krishnadevaraya

chanfirasuma

¢39O u3 g 3 R ooy 1 2SRV
a,@,cwf’*wtfw L Pt

i N |

—

TR, v gy 5 m?m M ey
(A) = (B) Fme
(C) =i m; .
X 3?

I |2 x 2 0 FE R x=_g3

7 6 x :
g e e
(A) 2,7 (B) —2;,=7
©) =27 (D) 2.-7
EDTA :i?f'l"'l?a%| {.:}_ guil
(A) BFEIEgH 0 ':}'» 1\7
(B) AT: TgH
(€) WETgF \ 'Jf'/j’
) FFTgF '1__? o{{

wF fafvaa gfear §, SOLID ¥eg I
WPSLPIMFHA % &9 § Hahdiety &
T & | It et w1 OTes e 7Y

ATEXXQIBVO & 41 3758 71477 7

(A) EAGER (B) WAFER

(C) WATER (D) WAGER

T % aﬁ?ﬂﬁﬁ'—{mmmt?

(A) T3 T (B) 3o

(C) =i (D) fir

THEE (G, * mﬁszwﬂhﬂﬁamﬁ?

(A) G =1 I5aqe

(B) = wfd G maqm{gaﬁ%

(C) G =1 ITEE 7] 2

(D) 579 & &g =i

{Wgﬁmﬁmﬁﬁm%?
R

(B) getersil

(C) FoRatg

(D) <RI RS@ 3’

— - e |
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% ) ]l/D E'o — rtj,/u L
R._.‘-""“/’ o
SI2019 (1) (E1) " (RO AT LA TR
63. 1 x+9,x—6,4are first three elements of | 63, AR x +9, x —6, 4 U AT & oA Tt 7
GP then x is Barx®
A .0 ‘?/15, -16 (A) 0,0 (0) 1610
(C) 0,16 D) -16/0) (C) 0,16 (D) 16,0
64.  Which is the correct reason for the outbreak | 64, A I& i e 3 et o1 el F
for the situation of cold war 7 FH-m 7
(A% Invasion on Pearl Harbour by Japan (A) ST BRI TE BTHT T AT
Emergence of USA and USSR as rival (B) wEEE wfFaal + w0 7 amfemr st
Em f f he 11 id ke
C) eat of gris force in the
- W A () gut v ga o S5 99 Il 'R
" (D) Bombing g Hiroshima and Nagasaki (D) s g etk A FrrEl W
: by USA g —6 2 ELEni]
65. If x =2, x, x + 3 are first three elements of F:;E.S. af x -2, x x+3 Wﬂ“ﬁﬂimﬂqﬁﬁ
GP then x 15, -PE"." Farxd
q %) - B) 6 0 ;3 (A) -6 (B), 6
b /W 6 ) 0 rlF () 6 L g
_ i
’ 6. -h;r:.lana's historic grand tomb is located | 66, =i 1 UEefir v wway e faer o
h in which district, which 15 assoctated with t_ o oy 5 ﬁ-ﬁ]\ HE 7
= Shekh Chilli ?
(& Kurukshetra  (B) Hansi (A) Fwam (B) wiH
(C) Nunh fD} Palwal {C'J H:E {D} Teas
67. Who j the present CEO of PepsiCa ? 67. STEHH (PepsiCo) % adum CEO 719 % 7
Mdm Nooyi (A) mEh
B) Ramon Laguarta (B) ua ]
(C) Shantanu Narayen (C) Tmag 9
(D) None of the above (D) Jyitaa & & =
68. By which Amendment to the Constitution the | 68, &feam & Fem a9 g aefs 3 sifm s
right to property was remaoved from the list g sfiEE
of Fundamental Rights 7 Eﬁriﬁﬁﬁmﬁmnmm?
(A} 7200 (B] 74" (A) 72 3 (B) 74 £
“ N ) 4 : (C) 443 (D) 463
\ 12 '
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T
ﬁ'fl " Who won the women's sin ‘
the 2019 Wimbledon Championships ?

gle tennis title at

) Petra Kvitova

(B) Vinus Williams
(C) Scrend Wwilliams
(D) Simond Halep

9. Langmuir isotherms holds at low pressure
but fails 3 '
(A) Low temperature

(B) Intermediate pressure

(C) High pressure ’
(D) MNone of these

71. Chaudhary Devilal Herbal Park is situated
in the district of-
(B) Panipat

@ Yamunanagar

77, Name of the lake which is famous for
tourism in Kamal.
(A) Sultanpur lake
(C) Barkhal lake

73. Complejs hg sepisen
ui’-g\ﬂ

1 30,33, .
37

(C) 31

(A) Mewal
(C) Rewari

{B) Taliyar lake
an lake

(B) 39
(D) 35

If each of the letters in the English alphabet

74.
is assigned E@Mang
A E_L.B:J&nd—mmmﬂﬂwm
:fF:lIuB of the | of the word INDIAN?
(A) 89 96
(C) 86 (D) B8

ﬁgl

70.

71.

?1'

3.

4.

A3

T—

Enmfﬁar—ts?[%ﬁmﬁwﬁqﬁmmﬁi
figars T sfien 7

(A) Tz e

(By =ty faferam

¢y Hen fafeas

(D) Tawr g
mmﬁﬂﬂtﬂiﬂmﬁﬁa-@ngﬁq
 wfawawa g

(A) = araHT

(B) HEHEE T

(C) F=9TE

(D) T & IS A
ﬁﬂﬁéﬂﬁaﬂﬁﬁﬁﬁﬁﬁﬁﬁ@a%?
(A) e (B) T
e e wie o fon wfs giter =1
THE? .

(A) GeAFR S (B) aferan e
(©) TFEasE (D) w0
el 01 St |

19, 23, 26, 30, 33, 7

(A, (B) 39

(C) 31 D) 35

A eI TEE e A=1 B=3

T R, 7152 INDIAN % 37a7a1
T B 7 T T
(A) 89
(C) 86

(B) 94
(D) 88

H
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19 (1) (R1y
English Language

;'.hﬂnsq_: the correct indirect form of the
ollowing sentence from the given options :

15, e said to me “What are you reading™ ?
(A) He asked me what 1 am reading
(B} He asked me what 1 was reading
(C) He said that what am T reading
¥ He suid that what was 1 readin £

Choose the part of the following sentence
which has an error ;

16, WNeither of 1@“ WETE Very strong.
(LA Neither of the two

(B) Of the two men were
(C) Of the two men
(D) Noemor

Select one word substitute for the following :
T7.  “Gain or profit over and above one's salary

OF wages'.
(A) investment L(,Bj/ surplus
(D) turnover

() perquisite
Select the synonym of the word in capital :

T8. ZEAL
(A) brave (B) soft
(C) increase { enthusiasm

Fill in the blanks with suitable preposition
79. He was here

last week,
(A) on (B) at
(C) in B not needed

Fill in the blanks with appropriate word from
the options :

8L We_ NN by a loud noise during last

mghi.
‘\"g)‘ were wokenup (B) were waking up
N woke up

D) are woken up
Mr. Miller doesn't like

81.

i walling.
(A) kept (B), is kept
(C) keep \FP{ being kept
You can’t stop me what [ want,
to do (B) thatldo
C) doing (D) do

=t wrm
83, ‘wm'sm SN AWM EETE |
(A) FgaH
(B) aed 3 sgere A i
(C), Ushdaq

O ferm

84, ‘werd @ gy i o 98 I

AT o fo et 2 | |
(A) Wraarsy (B)
(O = g
85. T+ =
(A) WY \m}/‘ﬁm
(C) wiy (D) "y
86, wirga feifam |
(%) m—rm/,/‘ia‘*’} P 1
(@) Fewn— o (3n) 4w
(n) =wer « (3) =it =1 ===
(=) wrg %) goft = wen
(&) =I=n (3) g =1 F=41
(®) (@ (@ (7) ()
(A) 2 ;1 3 | ¥}
(B) 3 '® = 3 é]
M w3 oz ¢
(D) ¥ A 3 % a

B7. ’mﬁlﬁ'ﬁaﬂaﬁ%
(A) S weet ot Sy @)
(B) 31 Terw 3 g 7wy

(C) ﬁ%ﬁﬁﬁﬁ@ﬁﬂ%ﬁ
B e e
88. T wE gl

%‘I‘
3 T o]

y e
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